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Warksheets Educat

Name: Date:

Addition (Word Problems)

Q1. There are 5 bags on one table and 2 bags on other. How many bags are
there altogether?

Solution:

Q2. Seven red capsicums and two green capsicums are in the basket. How many
capsicums are in the basket?

Solution:

Q3. 6 boys were playing in the park. 2 more joined them. How many boys are
there now, playing in the park?

Solution:

Q4. Dia has 4 apples and Ria has 2 apples. How many apples do Dia and Ria
have together?

Solution:
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Addition (Word Problems)

Q1. There are 5 bags on one table and 2 bags on other. How many bags are
there altogether?

Solution:
> 1111
+ 2 |
7

Q2. Seven red capsicums and two green capsicums are in the basket. How many
capsicums are in the basket?

Solution:

7 i
+ 2 |
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Q3. 6 boys were playing in the park. 2 more joined them. How many boys are
there now, playing in the park?

Solution:
6 i
+ 2 |
8

Q4. Dia has 4 apples and Ria has 2 apples. How many apples do Dia and Ria
have together?

Solution:
4 1111
+ 2 |
6
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